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 OAPI-011  

CERTIFICATE IN BEEKEEPING (CIB) 

Term-End Examination 

June, 2022 

 

OAPI-011 : INTRODUCTION TO BEEKEEPING 

Time : 2 hours Maximum Marks : 50 

Note :  All questions are compulsory. All questions carry 

equal marks. 

 

1. (a) Differentiate between managed and natural 

bee pollination. 5 

(b) How can a farmer generate income from bee 

pollination services ? Discuss with example. 5 

2. (a) Discuss about the seasonal management of 

bee colonies. 5 

(b) Describe the features of five beekeeping 

equipments used in modern beekeeping. 5 

3. (a) Discuss about the nervous system of bees. 5 

(b) Describe the brood care behaviour of 

honeybees. 5 
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4. (a) Bees are social insects. Discuss their social 

organization. 5 

(b) Describe the major and medium utility 

group of plant species having rich nectar in 

their flowers. 5 

5. Define the following terms : 52=10 

(a) Geitonogamy 

(b) Bee pasturage 

(c) Pollination 

(d) Dearth period 

(e) Morphology 
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 Amo.E.nr.AmB©.-011  

_Yw_ŠIr nmbZ _| à_mU-nÌ (gr.AmB©.~r.) 

gÌm§V narjm 

OyZ, 2022 

 

Amo.E.nr.AmB©.-011 : _Yw_ŠIr nmbZ H$m n[aM` 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

 ZmoQ> :  g^r àíZ A{Zdm ©̀ h¢ & g^r àíZm| Ho$ A§H$ g_mZ h¢ &  

1. (H$) à~§{YV Am¡a àmH¥${VH$ _Yw_ŠIr namJU _| A§Va ñnï> 
H$s{OE & 5 

(I) namJU godmAm| Ho$ Ûmam {H$gmZ _Yw_ŠIr go {H$g 
àH$ma Am` g¥{OV H$a gH$Vo h¢ ? gmoXmhaU MMm© 
H$s{OE & 5 

2. (H$) _Yw_ŠIr H$mobmoZrµO Ho$ _m¡g_r à~§YZ Ho$ ~mao _| MMm© 

H$s{OE & 5 

(I) AmYw{ZH$ _Yw_ŠIr nmbZ _| BñVo_mb {H$E OmZo dmbo 
nm±M _Yw_ŠIr nmbZ CnH$aUm| H$s {deofVmAm| H$m 
dU©Z H$s{OE & 5 

3. (H$) _Yw_pŠI`m| Ho$ V§{ÌH$m V§Ì Ho$ ~mao _| MMm©  

H$s{OE &  5 

(I) _Yw_pŠI`m| Ho$ ^«yU H$s XoI^mb g§~§Yr ì`dhma H$m 

dU©Z H$s{OE & 5 
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4. (H$) _Yw_pŠI`m± gm_m{OH$ H$sQ> hmoVr h¢ & CZHo$ gm_m{OH$ 

g§JR>Z H$s MMm© H$s{OE & 5 

(I) A{YH$ Cn`mo{JVm dmbo Am¡a _Ü`_ Cn`mo{JVm dmbo 

g_yh H$s CZ nmXn àOm{V`m| H$m dU©Z H$s{OE {OZHo$ 

nwîn _H$a§X go ^anya hmoVo h¢ & 5 

5. {ZåZ{b{IV eãXm| H$mo n[a^m{fV H$s{OE : 52=10 

(H$) gOmVnwînr namJU 

(I) _Yw_ŠIr MamJmh 

(J) namJU 

(K) _Ywàdmh H$s H$_r H$s Ad{Y 

(L>) AmH$m[aH$s 

00 


